DAILY BASIS ASSIGNMENT

Date:18.05.2020 Class: VI

Day: Monday

Subject : English

Identify the phrases in the following sentences:

1. Children are eating samosas in the canteen.
a) Children are eating
b) are eating
c) eating samosas
d) inthe canteen
2. Children should not remain out of home after sunset.
a) Children
b) should not remain
c) out of home
d) after sunset
3. He goes to school on his bicycle.
a) goes to school
b) to school
c) Hegoesto
d) on his bicycle
4. The dog jumped over the fence.
a) Thedog
b) jumped over
¢) The dog jumped
d) over the fence
5. They are waiting for the bus at the bus stop.
a) They are waiting
b) waiting for
c) forthe bus
d) atthe bus stop

SUBJECT: MATHEMATICS

1. Which one is the smallest 2339, 3293, 2008 or 508 ?

a. 508

b. 2339
C. 3293
d. 2008

2. The largest and smallest number using the digits 9, 5, 0, 3 are respectively



5309, 3590
9530, 3059

o o e

9350, 3509
d. 9350,3905

3. Place value of 4 in the smallest 4-digit number formed by using 1, 4, 9(where one of the digits is
allowed to repeat twice only)is

d. 40 b. 400 c. 4000 d. 4

4. What is the smallest 4-digit number that does not change even if the digits are written in

reverse order?

a. 1100
b. 1001
C. 1010
d. 1011

5. How many different 3-digit numbers can be formed by using the digits 2, 0, 5 without repeating
any digit in the number?

a. 6
b. 2
C. 5
d 4

SUBJECT: PHYSICS
Multiple Choice Questions (Select correct one):

1. Ramis running in straight line, which type of motion he has-
(a) Rectilinear
(b) Circular
(c) Rotational
(d) Periodic.
2. Which of these not Sl unit-
(a) Metre
(b) Kg
(c) Second
(d) Hand span.
3. Which of the motion is not periodic-
(a) A flying bee
(b) A swinging pendulum



(c) Hands of clock
(d) Revolution of the earth.
4. Which of the motion is not rectilinear-
(a) Motion of car in straight line
(b) Bullet fired from gun
(c) Motion of striker of carom board
(d) Hands of clock.
5. Which of the motion is random-
(a) Motion of house fly
(b) Motion of the earth
(c) Motion of wheel
(d) Motion of merry-go-round.

SUBJECT: CHEMISTRY

Multiple Choice Question (MCQ)

1. Wood and plastic are .............. of heat.
(&) Good conductor
(b) Bad conductor
(c) Semi conductor

(d) Super conductor

2. Mass is the amount of ................. on object has.
(a) Matter
(b) Space
(c) Piece
(d) Double

3. Liquids take the shape of their .......cccoeeuu..
(@) Part
(b) Colour
(c) Container

(d) Particles

4. Select the transparent substance from the following.



(a) Wood
(b) Mirror
(c) Stone
(d) Glass

5. The substances like wood, bricks etc, which do not allow any light to pass through them are-
(a) Transparent objects
(b) Translucent objects
(c) Opaque objects

(d) Semi transparent objects

SUBIJECT: BIOLOGY

Multiple choice questions :

1) Vitamins and minerals are
a) tissue-building nutrients
b) energy-rich nutrients
C) protective nutrients
d) none of these

2) Composition of fat are
a) Carbon, sulphur and nitrogen
b) Oxygen, nitrogen and hydrogen
C) Carbon, sulphur and hydrogen
d) carbon, hydrogen and oxygen

3) Which part of the plant is a turnip?
a) Root
b) Stem
C) Leaf
d) Seed

4) It prevents constipation and ensures proper bowel movement
a) Proteins
b) Vitamins
C) Minerals



d) Roughage

5) Itis complex carbohydrate
a) Starch
b) Glucose
C) Fructose
d) Maltose

SUBJECT—SST

Multiple Choice Questions{Select the correct one}:-

1. The feelings of people are hurt by

(a) habits (b) diversity (c) language (d) prejudice

2. The weaker and backward sections of society are protected by the

(a) police (b) people (c) state (d) dalits

3. Racial discrimination is against specific

(@) students (b) social reformers  (c) shopkeeper (d) races and ethnic communities
4. Social equality can----------- discrimination.
(a) improve (b) increase (c) eradicate (d) produce

5. Poor people are treated badly because of their

(a) weather conditions (b) health conditions (c) working conditions (d) economic
conditions

SUBJECT: COMPUTER
Multiple choice questions (select the correct one):-

1. Computer Language has been classified into generations.
a)4
b) 5
c)6
d) None of these



. Windows Media Player is an of Windows 7

a) Application
b) Adapter

c¢) Assembler

d) None of these

. Who is the first computer programmer?
a) Charles Babbage

b) Lady Ada

c¢) Dennis Ritchie

d) None of these

. Windows 7is a

a) Operating System
b) Computer Language
c¢) Language Processor
d) None of these

. Assembler converts Assembly language into
a) High Level

b) Low Level

c¢) Machine

d) None of these

Language.



& g &t 25
H8T 6

fawr fgdr

fesTier 18.5.2020
ICGRSIEEIRS
a'gﬁaw—«tfrl;rasr

(&) 319 R W FHogTsT AR
1 3TATSIT T |

2 AT T |

3 T YT I gifad IgareT|
4 3TFR A AT

(@) 37l FT el
1 75t gefaw
29gd T

3 31 |

4 37c3d Y|

(31) 37T T GRAA|
1 3

2 2|

3 Agrafad]

4 FETITY|

(87) 37 IR

13781 37ERT 8

2 =7 fagiT S8

3 37T I F97g|

4 T8 BIC 93 FT TITA o &l

(3) HTIT H €Y STl

1 [ TTHT G 3H5TeT TS|
2 I3 T |

3 foRdY & ShIT Sl HSHIEAT|

4 HegdTlel TE] I 7S HeT|




DBA - 25
feetier --- 18 /5/2020
fava - g HeT — o
el @ et 3R faf@w |

g 1 )AEIH YoV USHadel H &9 Fel § |

3

)
) @A

)
)

e 2) HEAA TV fdaael & &9 g 2

o

JarH
a1
(-\
RRE
A
36H

o

F) gae
) JIHq
M) TSHAG
b @

UReT 3) cad & ATy TRAT ST TET @ ¥ |

3

)
) 3
) &
) dfed

g o g

URE 4 ) A ALIH YOV B Dl AT e §7?

&) Tehadel
) gidads
M) Sgaa

o) g
e 5) garH @l fgwar 3 glem |

%) I

) A et
) qH
¥) qf IR

3k 3k 3k 3k %k >k 3k 3k >k 3k 3k %k %k %k >k 3k 3k %k *k k ok






